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1. Suppose a chair manufacturer finds that the marginal rate of technical substitution of labor for capital in his production process is substantially lower than the ratio of the wage rate for assembly-line labor to the rental rate on machinery.  How should he alter his use of capital and labor to minimize the cost of production?

2. If the marginal cost of production is increasing, does this tell you whether the average variable cost is increasing or decreasing?  Explain.

3. Why should a firm that incurs losses choose to produce rather than shutdown in the short run?

4. Suppose you are the manager of a watch-making firm operating in a competitive market. Your cost of production is given by C=100+Q2, where Q is the level of output and C is the total cost. Thus the fixed cost of production is 100, and the marginal cost of production is 2Q. 

a. If the price of watch is $60, how many watches should you produce to maximize profits? And what will be the profit level?

b. At what minimum price will you produce a positive output in the short run?

5. We write the percentage markup of price over marginal cost as (P-MC)/P. For a profit-maximizing monopolist, how does this markup depend on the elasticity of demand? Why can this markup be viewed as a measure of monopoly power?

